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1EE oE¥ EE 4EH SEE cEE EE
L fm &L(P . Cc . B .)
2 v B B B ((RXKIFUVERTAYY ) —
3 F & K B(BRAEXZY—)—
4 bye ( bye ) ——
5 &5 X ®B E(H X A C E)
6 & B H W F(B X 4 L X b)—
7 a4 F E M (BRIFPVERTFa4vY ) —
8 bye ( bye ) —
o ik g B (BKIPVERTa4vY ) —— 8/21
10 B £ (R X %9 L R b)—
1w H £ (BRXI7PVERTa4vY ) —
12 bye ( bye ) ——
BW A X T D(RRIFUVERTA4YY )——
14 3R ¥ K E=(C. A.F. T.)
15 & K E B(W . T . Cc .)
6H A £ K F(BREXI2U —)— 8/16
7T®R R B H(EXvyFHRAVE)—
18 bye ( bye ) ———
19 81 H B E(W . T . Cc . )—
20 ik n ¥ (HEXTY—rxvriRR)
228 & B H T(R X 2 L X F)
22 bye ( bye ) ———
22K RN E #HR((KEX9ILEY)— 8/24
24 B H R X(BEEBET7LvY I R)—
258 X ¥ NH(R X B B E)—
26 bye ( bye ) ——
271 B iR E(BARAEXZ2Y—)—-
2 O ¥ BA(BW KX A C E)
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SEE 4EH EH EH 1EH

b IV X #(BWH X A Cc E) 29

kN 2 M(E X B B E) 30

— E £ FTF(BBREXZ7Y-—) 3

— bye ( bye ) 32

8/15 ——1t 7] (R X V) — V) s
—X B & & ER(XKEX{HEI7Y—) 34

B X B F(RXKEX9ILHEY) 3

— bye ( bye ) 36

B OE ®» & E(BEXRyFU—HUR) 37

— % M B E(BXJ )V —V) 3
—% Bk £ #(C. A. F. T.) 39

/A ¥ E F(W . T . C .) 40

8/17 — bye ( bye ) A
=] B BE(BE 7L v 9 R) a2

H * ® Xx(w . T . Cc .) 4

8/24 — bye ( bye ) 44
—&F W M E(BWT7LY I R)H

B Al & F(HEXJFJU-rErriRR) 46

—% MM £ W(BRXIA—F14—3T) 47
—%# £ Y T F(C. A. F. T.) 48

B & ¥ F(BAEXIZ7U—) 4

— bye ( bye ) 50

8/15 M A & F(XEX{ELI7U-—)>5
—M& % B W . T . C .) 52

— 3 ¥ & h(B X ¥ Yy — v)s3

— bye ( bye ) 54

o B OB (R XK B E E) S

M & B #(BW X A C E) 56
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6@l &

= An77%
1@ 2@ EE  4EY SEEH
578 B ¥ &F ¥(p . Cc . B .)
58 0 B B F(REXYVILYY)—
59 F H H ZFE(HKIJ—vFyonx)——
60 bye ( bye ) ———
61 % B =*= ¥ F+(c. A. F. T.)—-
62 /% B B #£#£(w . T . C ) —— 8/21
63 fE U8 M B (BRXI7VERTavy ) —
64 & X BE (B R XKfancy)
66 K B WK W F(BRXIPVERTa4vY )—
66 % B =ZT DND(BARAEXI7U—)—
67 H ®HB BH(XEX{EIY-—)—
68 bye ( bye ) ———
69/ U A B F(HX B F L v F)— 8/31
Kk 3B #H HX(IFMXKKRYYF-—)
A »# EBE(BH X A C E)
2@ =K A O F(BR XA+ LY O)— 8/18
73 bye ( bye ) —
74 it i #g®(w . T . C ) ——
BE B S w YyH %2 oy —-)—
B FE OB B(RXKEXI7ILYY)—
77 H H p3I k(BAEXZ7YU—)
8B @ M F(HERIV—FrURR)—
MR Z k¥ B F(E % 2 UV —)———
B0 H H FTXKEXRIILTY)— o8
B1 f# ® = ®B((BAEXI7Y-—)—
2R O | F(HEXKITV—2FvronRR)—
8w B ¥ & IT(XEXEIZY—)—
84 B # ®(A. 1. T.cC.)
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i K JB(C. A. F. T.) 8
—& X B E(W . T . C .) 8
MM Xk ®H F(BARAEXI2U-—) 8
—— bye ( bye ) 88
8/22 —X A E(B X ¥ v J) 8
B OH O o@wM(#HE X # B &E) 99
——1 B & < H(E ® 2 YU —) o9
—— bye ( bye ) 92
—— E A )l X BE(W . T . C .) 9
——hF B E & (EXTU-2FrriRR) %4
—id 5 ® EBE(WwW . T . Cc .) 9%
— bye ( bye ) 96
8/14 ——® B &  b(Hm XK R — L) 97
rw B »(#H @& #h A &) 98
5 % O & =(Cc. A. F. T.)9
8/21 —=r R E F(BRXI7PUVERTF4vY ) 100
—+ A5 €= K F(T. T. M. C.) 10
— bye ( bye ) 102
—1i K I #(®W X A C E)103
—Iu E ®(A. 1. T. C.)104
bye ( bye ) 105
—B )l B (X FEKXT7Y—)I106
8/31 ——4& H B #® B(R X #E B E) 107
——XK & ¥ F(W . T . Cc .)108
——11 B FE(B X 2 L R k)09
— bye ( bye ) 110
—E I ® FT(BRXI7PYERTa4vY ) 111
B2 XK ]® F (UNBALANCE) 112




